aRoxT A7 'oin 2,1 n"a 702

She brought out her Get - FIN2N2 7712 [772IN0 Y PRI v FINOXYT
[but without the K’suboh]; she collects her K’suboh

Overview

7131 "7 ruled that 2193 AR X? 72 qwyn NR W00, Xax 92 870 ' cited? a mawn which
(seemingly) states this exact ruling of *"7. However *aX initially argued that this
mwn does not necessarily agree with *"7 (because it is discussing a 1°an13 PR 211
72n2). Eventually even »aX agreed that this 7awn is in accordance with *"3. Our

Moon elaborates on this 73wn, explaining it according to HXmw ,°"7 and 2.

= VXN MY IPAN V) NNININ 3)3NYP 2295 PNINNT XYY 29
And this is the explanation of the m1w» according to ''9; when the miwn states;

‘she presented the v»’, that means even just the witnesses of the w3, but not the va
itself -

= 492)Y 122,97 VN 1Y NYIDI N2 VN NNV NTINY 29 HY GN)
And even though the wife admits that she is in possession of both the 773102 and
her v3, nevertheless she can collect her 712103 with the w7 >7¥ alone, without having
to release either the v or the 721n3; the reason is because we write a receipt.

mooIn cites and explains the continuation of that m1wn according to 137 "
= 50)0 1Y W1 V) NNIY PRI NNIND NN

‘She brought out her 7123105 but there was no v together with it’; the explanation

of U3 MY X, is that the wife did not present the witnesses of the ©3, and also not the

va itself. The 71wn continues -
= 10)N 1Y ONY 1IYAY V) TAN NININ NI

‘She claims, ‘I lost my 'v3’; meaning that the WA >7¥ went away, they are not available

(and she also has no v3). The mwn continues -
= DY NN NOY D 1YYV 592IW TaN) 1Y 99IN NINI

‘And he claims, ‘I paid the ;772302 but I lost my receipt’ which they wrote out to

! See previously 191077 7"7 '0n (X,1°) and X2 7"7 3,7 ',

2 2,15 MAIN2; we cite the TIWnN: 7aR MR RIT SV°2 TAR DVAIR RO 03 72Y PRI 712100 ,702102 71213 712100 0¥ PRI 03 RN
131 132 KW NN 720 AWK TR 71907 2 IR A"AWD W90 KD 19K T 01 2w,

3 moon is won the m1wn that whenever it states v it does not mean the actual 3 (for she is not required to return the
v to the husband), but rather it means v 7. This is true according to >, because we force him to pay, even though
she retains the Y31 72103, since 721 1°2n1D. See footnote # 4.

4 See the end of the previous X7 "7 'o1n [TIE footnote # 10]. We force the m? to pay, even though the m» is not
releasing the 70w (claiming that he lost it). The m% can demand a receipt to protect him from future false claims of the
M. See ‘Thinking it over # 1.

5 If she would not have the v3, but she would have the 0377 *7v, she would collect her 72105 as just mentioned.
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me, so my wife should not collect second time’. The mwn continues that she cannot

collect. The reason is that the husband -
= 7PNV KD 9N 993 INT $103 )1IN)

Is believed to claim °ny1o with a 132 that he could have said, ‘I did not divorce
you’.

n1voIN asks:
= 119 MV E9NY AY 2NN THYI NY 99N DN 99NN ON)

And if you will say; if the husband claims, ‘I did not divorce you’, he is obligated
to give her 191 Mo IRW?

N190IN answers:
~(2,75 97 %P x33) HIAND RIPRTI PNYYA 1 GNX 0 PNYWA 1Y AN PON NPT 915 U

And one can say; that this is (similar to) a case where he claimed, ‘you owe me a
measure of wheat’, and the respondent admitted that he owes him that measure of
barley,’ the ruling is that the respondent is exempt from paying even barley,'’ as
it is stated in o357 PO,

mMooIn anticipates a difficulty:
=993 2IWI) NINRY AYNRN (3,17 97 mama) 51N 23957 93Y YW NIINT XN

And this which was taught in a 8n>"92 in the beginning of ny9°1a %1997 snw pId, ‘a
woman who said (not in the presence of her husband), ‘my husband divorced me’

¢ The reason we require a 13 here to exempt the husband from paying (even though generally when one claims he
paid his debt and the creditor has no "W [like in this case] the debtor is exempt from paying [with a no 1 myaw]), is
because here it is a 7"2 Awyn and >"1 maintains 2173 MK &7 72 7wYH R w073, The 1n however lends support to the
claim of the husband, therefore he is believed even though he is 72 wyn R .

7 The woman in this case has no proof that she is divorced (as opposed to the first case where she presented 7 >7v).
8 9xw refers to food, Mod means clothing, and AW means his marital obligation. Every married man is obligated to
supply his wife these three aforementioned items. What will he gain with the 13 of 7>nw13 X7, he will then have other
obligations (which may even be more detrimental to him than paying out the 721n2). It is not a valid 1, so the husband
should not be believed..

? The same measure (a 2p for instance) of barley is cheaper that the same measure of wheat. Seemingly he is a 77
nxp»a. However the ruling is that he pays nothing and is also not required to swear.

19 The explanation generally given is that when the claimant said he is owed wheat, he is tacitly admitting that he is
not owed barley, therefore it may be considered as if the claimant forfeits any claim to barley (and the response of the
defendant may be viewed as being sarcastic (I owe you barley?!). Similarly here when the woman asks for her 7213,
she is admitting that she is divorced and that her husband does not owe her 1131 mo3 Rw, she is forfeiting her rights
to them, therefore even if the husband would have claimed 7nw°3 82 he would not be obligated to provide it to her.
[When he admits to owing barley it may be necessary to say that he is being sarcastic, for otherwise there is a clear
admission of owing barley; however by 7>nw"3 X? there is no explicit admission to owing anything, he is merely
saying, ‘I do not owe you the 721n3°, there is no need therefore to attribute sarcasm to his statement.] See ‘Thinking
it over’ # 2.
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the rule is —
= 1a1n3)n5 Y75 1Y NUN9NN

She needs to be supported from her husband’s estate up to the amount of her
72N’

mooin replies:
- 129542495 N9 1151 12292 byan 1Y OX NPY 0NN

There (where the husband is not present) she is 72102 75 7v no175NY, for perhaps if

the husband was before us he would have admitted to her claim that she is divorced -
= NN 19 G NV PPNV XD 99N NN ON DaN

However if the husband would counter and say, ‘I did not divorce you’, he would
be exempt from paying even for her food (since she is forfeiting her right to mnm).

mooin asks on the previous 3 that he is believed to claim 13232 >Ny of NWAa RY:
= N3N N RN PPNV XD 99N 281 9551 99NN ON)

And if you will say; but how could he claim, “7>nw=23 8%’ when she is believed to

claim, ‘you divorced me’ -
= 140313 2NW%) AYYAY NINPNRY NYN B3NN 29 99N

For xi1n:7 29 taught that a woman who says to her husband, ‘you divorced me’,
she is believed, even if her husband contradicts her.

MO0IN answers:
= NN NN 413525 1352 NVVP YW ONX N 1HNIND NYIIN DN 920 VI

One can say; if the woman (who says to her husband *1nw"3) demands her 7712103,

' He owes her this money in either case; if she is married he is mama 21, and if she is divorced, he owes her the
7212, However, mooin just said that if she claims that she is divorced, she does not receive M1, so why in this case
does she receive 702112 >3 7Y MnA?!

12’ We maintain that the woman is 2m» the M1317 in a case where she claims *3nw=3 and he claims Pnw"3 X2, so since
she hears him contradicting her and she maintains 1w, that is a sign that she is 2m the N1 and only wants the
721n2. However in the case where the husband is overseas and she claims >33, there is no indication that she is Hmn
the mi1 for (the reason she is not requesting M is because) she assumes that the husband will agree that he divorced
her.

13 See 1"w1 X,T0p NN,

14 The woman is claiming her 72103, for she insists she was divorced. The husband claims 7ny5. The husband is
believed because he has a 1, for he could have said, 7>nwaa X7. However the ruling of 7" teaches us that when the
woman claims in the presence of her husband that she is divorced, she is believed (because there is a fnpin that a
married woman would never be that brazen to declare to her husband, ‘I am not your wife”). The question therefore is
that since there is no 13, for the woman would be believed, why do we believe him with the claim of *ny-s since vwn
0122 MR R 72 Awyn nR?!

15 A woman is believed to say >1nw"3 only in regards to have permission to remarry someone ese, but not to collect
money.

16 If there is discord we attribute her brazenness in saying >anw3 because of the discord.
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or if there is discord between the man and the woman, in those cases she is not

believed. mooin shows us a similar qualifying rule -
= (x,0p X,107 97 M) NITNY AYNRN P93 NN NION PPN NTAY NININIT NHYA NN MO

Just like in the case where a woman states, her husband died, where she is
believed, however in these abovementioned situations (where her intent is to collect
her 7712105 or there was nvvp) she is not believed to say *7¥2 n», as we find in 9D

59T WNTT, the same applies to 1w, that she is not believed if she comes to claim money,
as she is doing here.

M9oIN continues to explain the 7w in!” M21n3 according to "
- 13915 WY 29 BY X NPI9) P0IN MY NOANY INIY BTN 1I90N 1)

‘And from the danger and onwards’, meaning that she is afraid to present the

vx7 97Y, she collects her 12105 even though he has a % of 7°nw=3 XY, for since he knows
that she cannot present her v >7v, he should have kept his 12w.

mooIn anticipates a difficulty:
= 1599 (0w 3,09 97 MAN) AN FNDIYAT 2) DY GN)

And even though that in the end of 21577 P75, the X713 asks -
= 2093193 1931911 NY2) INNA PYIT) 2T NID IN
‘if there is no "2 7, how can she collect her 72102, let us believe him with a

%’ that 7onwa X9? It is seemingly evident from that X3 that even 712077 nywn he is believed to
claim >nyo (if there are no P *7v) with a 1 of nwAx X!

mooIn replies:
= 210195 99N NDT NN INRT 1IN 2297 MY NYDT 29D XPIT 199N

That X3 there is only according to 39, who disagrees with '3, who maintains

here that 2792 92K X» 7">2 7WYn MR 3107, but rather 27 maintains that one can claim *ny1o

even against a 7"2 WY -
= P99 999D 1IN 1RV NIDN NP NI NOYYW 1IN ¥39Y YaN

However according to ''v where we have increased her strength before the 17100
that he is not believed to claim Sny=p (if she has w17 *7v), since he is 7"2 AWy MR W -

17 See footnote # 2.

18 See m 1"7 X, 05 M2IN3 *"wn who writes; N5 NLPWHT TPLX MWD DRI 1A NI DY 222910 T2W 1 L I00 11
19 She is afraid that if she brings the va7 >7v the 0™ will become aware that she received a v3, and will punish her.

20 On account of this question the X723 concludes there that there was Pw17° >7v. How can Mooin maintain here that
(71507 1) she can collect even without w177 7y,

21 31 maintains that one can claim Ny even against a 7"°2 Awyn, therefore before the 7100 the woman can collect only
if she releases the 03 (Va7 >7v are insufficient, for he can claim *ny19), and after the 7120, she at least needs v 7.
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= 22959 113 DIYYY XYY N MY WY ) NITDN INNY
So we will also increase her strength after the 7100, that his % will not be

effective, and she will collect even without 12177 >7¥ if he claims >ny19, despite the fact that he

has a 1, for he should have kept his 121w.
= 2372105 PAMOY DIPNA N PPHINN NDID 99N

And according to *"1 the entire 71w» is valid even in a place where they write a

712103, nevertheless she is believed without showing the 712102 or the v as long as she has 7V
TPYI (this is 73907 °199) and 73907 TnK? she collects even without v *7v (even if the husband

claims *ny1d).
= D212 PaAMIVY OIPNI GN PNINN 2P 1IN’ 2293 PO 1) AN

And even 2R concludes like 3''1 and establishes the aforementioned 71w, even

in a place where they write a 773103, nevertheless the woman is not obligated to present the
72112 (seemingly) because we maintain 7212 12am> and that will protect the husband from not
paying twice for the 72103.

maoIN questions this assumption that »ax maintains 72w 172M2:
= 29541 DY DINY NT DV 1921V TR AN IIN (3,8¥p 97 8IM2 x22) VIV V) PI93T DYDY

And there is a difficulty; for in ¥1» ©3 P95 in a case where the % claims that he
lost his note, 2N said, so if the M7 will lose the receipt, the m>» will consume and
rejoice -

= NYH9) *NAN N2INI 1Y PRI V) ANININ 12 QNI 921V P21 PNT 9207 ynwun
It seems that s°28 maintains that 9212 35210 X, so therefore in a case where she

presents the w7 (°7v) without the 573102, why should she collect -
= 259W99975 N2 NAIND YOV INVYIV NN TI0INT 199 XN

Since the husband will lose by the fact that the 72105 9uw is in her possession, as

I explained, so therefore (even if we maintain 2193 X X2 72 qwWyn MK W), -
= MYIPN NN NIHNY 1Y Y99 XY

22 The woman has going for her the rule that 2193 9ax X% 7™ Awyn NX w7 which weakens the claim of >ny7o
(somewhat), and additionally her lack of o>7v is justified 71207 *19%. [The 7120 permits us to raise the woman’s right
one level. If before the 71100 she is required to release her v (the view of 17), then after the 7150 she needs at least to
bring v >7v. However according to 73m1° ' where 715077 197 she is not required to show her v3 (rather v >7v alone are
sufficient), so after the 71100, she collects even without 7 >7v.]

23 This is in opposition to 2w (see later this MpoIn [footnote # 30]), who establishes the Xw™ of 72y PRI LA XX
721n3 in a place where 712102 1PaMd TX.

24 See footnote # 4. 821 maintains that if the m7n claims that he lost the 70w, the M must pay nonetheless. To protect
the Mm%, we will write a receipt so in case the m?» in the future would present his q0w the m> will counter with the
receipt. This is the meaning of 121 Pan>. However, »ak counters that if the m> will lose the receipt, the mbn will
then be able to produce the W and collect from the M illegally a second time. Therefore the Mm% should not have to
pay unless the m7n presents the “ww. This is referred to as 92w 1am> PX.

25 See ¥2 1"7 '01n [TIE text by footnote # 8].
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The husband should not pay until she releases the 7121n> and they will tear it up!

N1D0IN answers:
- 2619950 WINY D)9 TaY MMINT N2 29347 Yap HANT 1Y U

And one can say; that 2R accepted the words of 839 who said, citing the 7105 of

mn wRY MY 72y (the borrower is a slave that man who lends); meaning that (»ax
also agrees that) 721w 1an1, therefore the husband must pay and he will receive a 712w to protect
him from not paying an additional time -

mMooIN anticipates a difficulty:
= NN 7592 INNNVI NN 1INT (mx Snnnn 127 0w 3,197 1Iw) RIPNN PI93)

And in X1p%7 P99, where the 73w states, ‘she said, ‘I was defiled’, the rule is that

she ‘breaks’ (forfeits) her $73¥n>°. This concludes the mawn.
= NYIPN 2N 289AN 9N 921V 122507 N0 YNV RIIHA 7299

And the X923 there asks; ‘we can derive from this ruling that we write a receipt’,
instead of returning the 712102 7VWw. 2K responded, there is no proof that 72w 1°2m>,
for the 71wn should read, ‘she tears up her 72103.

mooIn responds:
= PY1H XY NONM 99195 NIN NIbya NMINY

It is a mere deflection, meaning that you cannot infer from this mwn that pann
72w, but not that Ak maintains 92 12M> PR. N1BOIN proves that we cannot derive from s ax
answer that he maintains 221 772012 X -

- 29792)1)3 A3 PRY 0PN 0NN MNT 92V Pama 7Y NT X2Y DIV

For even X239 who certainly maintains 9212 152012 PR, also deflects there the proof
from the mwn that 721w 1°an12, for we can establish the 71w» in a place where they
do not write a 71203, so obviously in such a place we are 72w 7an.

26 1 23 °5wn. In the case where the mn claims he lost the 7uw, there is a dilemma, whether we should rule in favor of
the m>, that as long as the 7%n does not produce the Tvw, the M2 need not pay (out of concern that the m%» still has
the 7uw and may produce it illegally a second time), or do we rule in favor of the mo», that the Mm% (who admits that
he owes the money) should pay, and to prevent the % from claiming again we will write a receipt for the m? (which
the M7 does not want because he may lose it). 827 rules that since M w°R> M 72y, therefore we rule in favor of the
M, and the MY needs to pay and to be careful not to lose the 12w.

7 The expression 72N> N12w indicates that she writes a 921 (a receipt) to her husband that she has no longer any
claim on the 72105 (but not that she gives up her actual 721n2). [A receipt is called a 72w (a breaker), because it breaks
(destroys) the power of the "W (for which it is a receipt).]

28 If »ar maintains that 92w 1213 (as N9ON just mentioned), why is there a need to refute the proof which is
supporting his own view. This seemingly proves that X maintains 127 12013 7°X!

2 The answers of X2 »aR were not presented because they maintain 92w Pan 7%, but rather they both explained
why we cannot derive conclusively from that 71wn that 72w 17203,
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moon concluded explaining the mawn according to °"3 (who maintains 2175 AR X7 72 qwyn K 307,
and 72w 122amM>3). Now moon explains the mwn according to 78w who maintains 12mW 1200 PX.
= 931V 1PaM5 PN 7YY IINRT DN

And X2 who maintains 221 1920 X -
- 12IN5 PAM3 PRY 0YPNA 31aman P9 PIINN 70 P

And he establishes this ;71w in 22577 92 in a place where they do not write a

712302, This X -
= 33020 27Y 139N 20XN NNOVINI BITD N NIT 1IN 23295 920 *81

Can agree with 5" that 2792 928 8% 7"°2 7wyn nX Wwon, and when the 72w there
states ©A IROXYT that means the vAT 3TV (as 'o1n explained previously according to >"3) —

mMooIN anticipates a difficulty:
= 792 INYIY VI TPDINY 29 DY GN)

And even though the husband loses by the ¥ remaining in her possession,
nevertheless 7% would agree that he must pay her (and take a receipt). M5010 now explains why

the husband loses if the vi remains by her -
- AN 1Y NY PR ON SPPNWA KD 1712IY PO OR NINK DY WY 9199 7993 797 NY ONY

For if the v) was not in her possession, the next time she comes to collect her 712103
illegally, the husband can claim, if he lost his receipt, ‘I did not divorce you’, this

claim would be valid if she does not have the w7 57, However, if we do not require her
to present the 13, he will not be able to protect himself, by saying 7>nw3 X (since she can produce
the v1), so why do we not require her to produce the v before he pays her?

mooIN responds:
= 357152 52Y0IND NI*YA 9NN N> DIPN YN

30 See ¥,u5 M2IND. YX MY maintains 721 PaM> PR (not like >"7), nevertheless he can agree with " that 7wy» N 1907
0122 MR R? 7M1

31 See footnote # 2. The mawn there states 7NN 7213 720D 7Y PRI 03 A%, This indicates that 72w 1an1d, for
otherwise why should he pay the 72102 if it is not returned to him. X explained that (we can maintain °anm> X
12w, however) we are discussing a place where 712102 1an1d X; therefore his only recourse (to prevent her from
claiming a 72105 an additional time) is to receive a 12Ww.

32 One might think that since 9X¥W maintains 921 2M3 PR, she cannot collect her 72103 unless she releases the 03,
for otherwise the husband stands to lose (even if we will write a 121w, for he may lose it), as '01n continues to explain.
Nevertheless N19010 maintains that she can collect with the v 79 alone without relinquishing the wva.

33 We cannot say that L7 AR means the actual 3, for since XMW establishes the 71wn in a 7230 aM> PRY PR,
so obviously if she releases the v3, he must pay her, for there is no concern that she will claim her 712103 again (she has
no 72112 and is returning the vx). Therefore we must say that v AR°%17 refers to the w7 7y and the w17°n of the mwn
is (as MdoIN continues) that even though she is retaining the va and this may cause a loss to the husband, nevertheless
her claim that she needs the v to remarry is so strong that 921w 1215 (even according to 2Xmw).

34 Perhaps mooIn means that he is believed to claim 7>nwa3 X297 1323 *nyIo.

35 The husband is concerned what will happen if he loses the 721w, the woman is concerned she will not be able to
remarry if she gives up her va (the 03 is her proof that she is a 7°119). Her concern is greater (since he at least has a 121w
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Nevertheless, she can claim, ‘I need the v in order to remarry again’, therefore she
is not required to return the va.

moon responds to an anticipated difficulty:*°
= 37912027 AN 1MNYIP 19T XV 152 19%2NdT NYY MY

For 2 does not agree that we write on the back of the v, ‘we tore up this w3,

etc.” as »2R explains shortly, so in such an impasse -
= (0w 3,09 97 MAN2) AMDN SNTIVWA RNINTI 921V 12%2NDT TWAN XY NI 1195 %)

It is like a case where it is impossible to return the "vw, where we rule that 3j1°an>
12w, as is mentioned in the end of 201277 P75,

mooIn continues with the explanation of the mwn according to HRMw:
= 0N 7Y 13950 VI NNY PRI ND ANIY YIIN TOYW V) NNY PNY #N2IND

‘She presented the 712102 but there is no v with it’; N1901n explains it so happened
that he wrote for her a 72102 (even though that was not the local custom), and the

meaning of wa »Y PR, is that she does not have [even] v 97¥; the husband -
= PPNV NIT NN INYID 990 INIT Y199 XY

Is not required to pay her, for he is believed to claim >ny=p with a 132 of Jonw=3 8>,

MooIN continues quoting the mwn and explaining it according to PXMW:
—13N9% %2499 “O5PYWr9995 VIN 7Y NDA IDPON AN FTDIN) NN PN

‘And from the danger and onwards, the woman can collect her 721103, even
without the w7 57w, as I explained according to s''".

mooIn cites and explains s'27 interpretation of the 71w» in N7 PI5:
- 215 PaAMHOVY 0P 1°2 NN PaAMD PRY DIPNA 12 PHINN Honn »Pin 2

And 29 established the 7w there in 201277 P79, both in a place where they do

not write a ;712102 and also in a place where they write a 773103, Regarding the first
case of the mIwn where 72102 Ay XY VA X% the rule is -

to protect him), therefore we do not require her to give up the 0.

36 Seemingly we can satisfy all the parties. She will present the v and 7"2 will tear up the ©x (partially) and write on
the back, ‘we tore up this v3, not because it is 9109, only that she should not collect again with this v3’. See X7 19p>.
Therefore the husband is assured that she cannot collect again with the v3, and she is assured to remarry again.

37 See previous footnote # 36. »ax (on X,1°) explains that this solution is not always feasible, since it is not always that
a husband pays his v3 in 7"2. He may pay privately, and there will be no 7"2 to write anything on the back of the va.
38 See footnote # 2. In 2mM37 79, there "X MW established the 71w in a place where 72112 PN PX.

3 See footnote # 18.

40 See text from footnote # 18 and onwards.

4%, 09 M.
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= 11525231 9170 NXIT 159 19999 V) YOV *1 HY DINNRN NI XYM
And she collects 73» (by an 1n%X) or 2»n8» (if she was a 7171n2) through the aww

v and we tear up the v so she should not be able to again collect with it -
= 44712027 »ANRN 1Y) 9510 137 XV N2 DY 19%2N)

And we write on the back of the v, ‘this w3, etc. was ripped etc., and 27 argues

on 2R mentioned shortly in our xma.
= TPHYI RDT DN 1Y RN RIY VXN 1Y OY “NTaD NN > DY “NIvIM

And she collects her 721012 m2oIn, through presenting the 712105 alone (without the
v1) as long as she produces the va7 37y, so (since she has Va7 *7Y) he will not have

the 1% of Tonw=a XY -
INTY9) VXN 2TPA NY2)) DI 99N XY 90NT 13N 229N 133 HY9)

However regarding collecting the 72102 92°Y he (27) argues with 5'' as well, who
maintains that 2192 2728 X» 7"°2 7wWvn NR *NYI0 31071, and she can collect the 72102

with the ©an 97 alone without the 03 (since 72 1°2013), however 21 maintains 221 72> TX,
and she cannot collect her v) unless she releases it, out of concern that she will collect a second
time since 721 1°2MD PX.

Thinking it over
1. mooIn writes that even if she admits that she is in possession of her 721121 v (but

is not returning it), nevertheless he is obligated to pay since 2w 12an2.4’ However
by a M2 mon, the M? must pay only if the MY claims he lost the vw (since Pand
121%), how is it that here he has to pay even if she admits that she has 77°2 7210121 037!

2. mooin writes that he does not owe her 7131 M3 XY since it is like 7777 @°0R 1YY
Mwwa 2. Seemingly however the 77’11 of 2™ Www and/or 723971 M03 XY is only for
the past, however it cannot apply to the future since 117°1% is not effective for the
future?!¥

42 However she cannot collect her 712103 7p°y through showing the 72103 or bringing 0371 >7v (but only through showing
the v3), for we are concerned that she may collect again with her va.

43 See footnote # 36.

4 x,m. See footnote # 37.

45 This is regarding the other case of u3 Yy PRI 72N> XX, where the rule is that she does not collect her 72103,
however she may collect her 7721015 MvoIN if she relinquishes her 712102, This ruling is according to everyone.

46 Since she is returning the 72102 there is no concern that she will collect her 72303 M50 a second time, because now
she does not have the 112102, and the husband will be believed to claim 712112 MdOIN YD, with a 1 that there was no
721> MdoIN at all.

47 See footnote # 4.

48 See footnote # 10.

49 See 1¥pPN NIX 7T OnY N
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Summary
A woman who claims in the presence of her husband that she is divorced, and the

husband claims he did not divorce her, (nevertheless) he is not liable for Mo Rw
1y for it is like 2*ywa K2 A7 0200 1YY where he is 2™ YW M7 12°0R MWD.

A woman who claims in the presence of her husband *1nw13, and he claims 7>nw9 X7,
if she is asking permission to remarry, she is believed (provided there is no discord
in their marriage), if however she is requesting her 72113 she is not believed.
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7" nwyn 0170 IR
TR IR 1201w 21pR2 172 12D 1AMD PRY DIPR2 | N PANOW D102 P | PRI VA IRIRIT
AN PIMD | 7 TIPRA BN T A | AN ADNIPINITR | magy mmyns mmy
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